Zusammenfassungqg Weihnachtsturnier 2008

Einzel

Gruppe A

Zienert - Peupelmann 2.0 1. Walther 4:0 8:2
Walther - Heinrich, B. 2:0 2. Schirmer 31 7:2
Peupelmann - Schirmer 0:2 3. Zienert 2:2 54
Heinrich, B. - Zienert 0:2 4. Heinrich, B. 1:3 26
Schirmer - Heinrich, B. 2:0 5. Peupelmann 0:4 08
Zienert - Walther 1:2

Heinrich, B. - Peupelmann 2:0

Walther - Schirmer 2:1

Peupelmann - Walther 0:2

Schirmer - Zienert 2:0

Gruppe B

Nguyen Duc - Gerschler 2:1 1. Nguyen Duc 5:0 10:3
Japelt - Hartje 0:2 2. Hartje 4:1 93
Drewning - Steffen 2:1 3. Drewning 32 76
Gerschler - Drewning 1:2 4. Steffen 2:3 67
Hartje - Nguyen Duc 1:2 5. Gerschler 1:4 49
Steffen - Japelt 2:1 6. Japelt 0:5 2:10
Hartje - Gerschler 2.0

Nguyen Duc - Steffen 2:1

Jépelt - Drewning 0:2

Gerschler - Japelt 2:1

Steffen - Hartje 0:2

Drewning - Nguyen Duc 0:2

Steffen - Gerschler 2.0

Hartje - Drewning 2:1

Nguyen Duc - Japelt 2.0

Gruppe C

Langhof - Hattasch 2:1 1. Steidel, T. 4:0 8:0
Steidel, T. - Glinther 2:0 2. Hattasch 2:2 54
Hattasch - Zschorsch, Mar 2:0 3. Langhof 2:2 55
Gunther - Langhof 0:2 4. Zschorsch, Mar 2:2 4:5
Zschorsch, Mar - Glinther 2.0 5. Glnther 0:4 0:8
Langhof - Steidel, T. 0:2

Gunther - Hattasch 0:2

Steidel, T. - Zschorsch, Mar  2:0

Hattasch - Steidel, T. 0:2

Zschorsch, Mar - Langhof 2:1



Gruppe D

Schubert - Langner
Bottcher - Zschorsch, Mat
Langner - Steidel, E.
Zschorsch, Mat - Schubert
Steidel, E. - Zschorsch, Mat
Schubert - Béttcher
Zschorsch, Mat - Langner
Bottcher - Steidel, E.
Langner - Bottcher
Steidel, E. - Schubert

Viertelfinale:
Walther - Hartje
Steidel, T. - Schubert
Nguyen Duc - Schirmer
Langner - Hattasch

Halbfinale:
Walther - Steidel, T.
Schirmer - Langner

Finale:
Steidel, T. - Langner

Abstimmung "Ausqgefallenster Schléager”

Zschorsch, Markus
Hattasch, Carsten
Nguyen Duc, Quang
Walther, Tom

1:2
0:2
2:0
2:1
2:0
2:0
0:2
0:2
2:0
0:2

3.2
3:1
1:3
3:0

2:3
0:3

0:3

11 Stimmen
8 Stimmen
1 Stimme
1 Stimme

1. Langner 4:0
2. Schubert 2:2
3. Steidel, E. 2:2
4. Zschorsch, Mat 2:2
5. Béttcher 0:4

8:1
6:4
4:4
4:5
0:8



